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m 00 0000 R200000 DOO0ODOODOOOOOOD “0O000
000000000000 Y0000 RRO0OODOOOOOOOO?

{(z,y) € R?|2? +¢* < r?}, {(z,y) eER*|la<z < bc<y<d}
0000000000000 r,a,b,¢,d0r>0,a<bc<d00000

m 00 R2000 D00 DOO (e,b) 000000000%O0000D0
020000 f0O

(31)  lm  flay) = A wa>»A (@w>»@m0
(z,y)—(a,b)

000000 (,y) 000000000 (a,b) 000000 f(z,y) 000

ADODOODOODY000000 (2,y) — (a,b) 000 flz,y) 000

00 AODD 900000000 (a+hb+k) 0 (a,b) 0000000

(h,k)O (0,0) 000000000000

3.2 lim z,y) =  lim a+h,b+k).
(3.2) uwﬂwﬁ(y)<MHmmﬂ )
00 3.1. 20000 o, 3, f O
lim  «a(h,k) =0, lim h,k) =0, lim x,y)=A
(h,k)—(0,0) ( ) (h,k)—(0,0) ﬂ( ) (z,y)—(a,b) f( y)
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sl fatath k). b+ B(h k)
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20140 40 230 (20140 40 30000)

Yoo: adomain; 000000000000 O0O0OOOO

2)000: an open disc; 000D : an open rectangle (rectangular domain).

3(z,y) = (a,b) 000000000000 F0 (a,b) 000000000000000000000
49000000000000000000000000000000000000000000000000
®) 0000 the limit.

9000o000o: arbitrary; D00 X 0000 PODODOO: P holds for an arbitrary X.
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2xy
21 (@y)#(0,0
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0 ((z,y) = (0,0))
0000000 14,21 000000h, = 1/n, ky = 1/n, K, = —1/n
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000000010000 3.2(1)000(z,y) — (0,0)000 f(z,y)
010000000000000000002000 f(z,y) 0 —1
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lim f(z,y) = lim —_ =0 000 hm<mnﬂxm):u
y—0 ’ y—0 22 4 y?2 z—0 \ y—0 ’

2) f(z,y) = (22 —y?)/(2®+9*) 0 (z,y)— (0,00 000000000
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lim (lim f(m,y)) =1, lim ( lim f(x,y)) =1

z—0 \ y—0 y—0 (x—)O
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()  f(z,y) = f(rcosh,rsinf) = r?cos O sin (cos? § — sin? 9)
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= 57“2 sin 20 cos 20 = ng sin 40

000|sin4d| <1000

2 2 2 g2 2
i < < __g <
4sm49‘:4 oooo 4:4511149:4

000 (x)0000r—00000 000000 &

s 000 10000000000 230000000 2000000000
gbobogooooood

00 34.00 DcR?00000020000 f00 (a,b) e DODODO
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00 3.6. 00 DCR200000000 f(z,y) 0 (a,b) eDOODODO
000000(a+hb+k)eDDODODOODO (hk)DOODO
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fla+h)— f(a) = f'(a+6h)h (0<0<1

7000000 the mean value theorem. 000000000000000000
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fa+h f(a)

f(aJ/ fa+ h)/

l a a+6h a+h X / a+h a+6h a X

h >0 h <0

031 000000 3.10
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N

e(h, k) =
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00000F () = fola+t,b+k)— fo(a+¢b) 0000000000000000
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000 6, €(0,1) 000000000 F{(t) = fey(a+6:h,b+t) 00000000
000000000000 6,6, 000000000000

(*) V = fzy(a + th, b+ 92]{) (01,02 S (0, 1))
000 V= (G(k) — G(0))/(hk) (G(t) i= fla+h,b+1) — fla,b+4) 0000
(%) V = fya(a+@ih,b+@2k)  (p1,92 € (0,1))
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00000000 faoy(a,b) = fye(a,b) 000000000000 O
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1) DOO0O0O0O0O0 C’-00o0oooa 3.800
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O0. 0000 R*00000000000 I=[e,b00000000000000
¢, yO0ODOOoOoooog 'Y
v=(z,9): I3t —~(t) = (x(t),y(t)) € R?
00000000 R*>00 ~(e)dy(b) 00D0O0O vO0OO,000000
0O0. 0000 R200000 DOOODOOOOOODOOO P,QOODOO PO
000QUOO0ON0ODO0OD v:[a,b —=R*00 v() (e<t<b)0 DOOOD
000000000000000(000000000 “00000” 00000
O0. 0000 R*00 P=(q,b) 00000 0000
U.(P) :={(z,y) € R*|(z —a)* + (y — b)* <&’} CR?
000000 R2O0ODDODD “0 POOOOOODOO 000”0 0000 “PO
00000 e-007” the e-disc centered at P OO0 00O
00. 0000 R200000 DOOOD 00000 DOOO POOOO
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{(z,y) € R*| F(z,y) > 0} C R*.
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3-2 20000000000000000000000000000000000C*-
0000000000000000000
000000 = 00000 40000000 f(z,y) =22 +%2 0 (0,0)
0000000000000

3-3 0000000 JICROODODOOOOOOOOOO f0000 £ 0100
0000 0000 f0 I000000000000000DO0OOOOOO0O
000000000000000

3-4 00 JICRODODOOOOOOOOO f0000 £ 000000000
O000f0 I0000000000000000000000000000
00000000010000 f000 /0000000000 “70020
1,200 21 <z, 0000000 f(z1) < f(z2) 00000” 000000O

00 (amapping) 10000000000000000000000000000 400000 R?

0oo0o0oooO0o0oo0 “c0o00” oo000oO0O00OooOO0O0oOOo0OooOOoOooOOoOn
2)000: an open set; D000 : a connected set; O0: a disc (disk).




